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I Answer any one ofthe following in about 200words.

1) Which are ihe major branches ol linguistics ? Briefly describe the
characledstics ol socio, psycho computalional and anthropotogicat tinguisrics.

2) Briel y skelch ihe dillerence between animat communicalion system and

humanlanglage. (1:8=8)

ll. Answerany one olthelollowing in aboul200 words

3) B rieily sketch the classilication of Engllsh vowes into Longvowets, diphihongs

andtriphthongs.

4) Describe assimilaUon and elision with sufticient examples. (1 x8=8)

lli. Answeranylwo ofthe tollowinq in about S0 words each.

5) Free morpheme and bound morpheme.

6) Complex and compound words.

(2xa=8)7) Backlorrnairon and adapt.lion n word forrna tron.
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lV. Transcribe llre following passage phonetically markinq ihe stress :

8) You're too good. You don't wanl to be bothered wllh rne, I rn slre' t's no

lrouble, ilyo! wantlo stay. ll's jusl llke hav ng myown brcther here he is

about your age lt s a pleasure to have somebody ln the place besides

ourselves.' Wellthen, I should love t, ii you only lel rne pay my board and

help wltlr lhe work'. One orlwo days passed, and Ha.ry stayed on althe

larm J lwas quile charmed by him. l1t2=21

V. Answer lhe lollow ng in a sentence or two :

9) Disl nguish belween langue and parole

l0) Whal ls Pidgin ?

12) Explain Schwa.

t3) Deiine supraseqmenlal phonology.

14) What arc cardinal vowels ?

l5) D sl ngu ish belween fodis and lenis.

16) Wh ch are the semi-vowels and whv a.e lhev called so ?

17) Wh ch arethe main aux ary verbs in English ?

1 8) Dlstinguish between zero onsel and zero coda.

1 9) Dislinguish behveen dia eci and id olecl

20) Who is the authorof Syntactic Structures ?

21) Which arelhe nasals n English Lang'rage ?

22) Give examples oi linking rorintrLrslve r. (1ax1=14)


